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�	� ���
�	 ����� ,�-1924 �
��� ������ ���� ,Louis de Broglie , ��
� 
������ ����

�	
 . ����������	�	� ���	 ���� ������
 ���� �
���:   

 ���	
 ���� �� 
����	� 	
 
����
 ��� 	� 	
 
����
 ,  

 ���� ����	�	 �� �	�� ��)	
�	 ,	�	������� (��� 
����
 	�� 
�.  

������� ��
 �� 
������� 
�����	�� 
����
� ,	� ����� 
����
 �� 
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�� 
�	� ����
�
 ���� �	���� �� , 	��
� ���� ����
 �
��� ��
 	
 ����������� ���
 	�
 ���

� ���
 
� ����� �����	��� ��	� �����
 ��������� ��
"����� 	
 
������ �������� � ,

���	� ,������ ���� ��	� 	
 �	
 ���� ��	
�	 ��	�:  

  

����� , ����������� ���
 ���� 	
 ���  �npr =.  

 
� ������
� ���� �	���� �� ����:  
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=

=
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  ����- 2πr   ��� ���	���
�	   ������r , 	
 ����������� ���
 
� 	��	 �
��
 ����� ��

� ����"������ ���
� �����	�� 	�	
 ���
�� �
���� � ,���	� , ���
	� ���� 	� ����  
���

 	
 
�	
����� 2π.  

  

����� 	
 
��	�� 
����
� �����	 �
� ���� ����	 �
�� , 
����
� �����	 �
� ���
 ���


��� ���
 �
�� ���� 	
 
��	��.  

��� 	
 ����� ,������ ��� 	
 	��� ���� ��� ���� ��� 	
 	�� ����
 �
�� ����� , �	�

 �� 	� ����� 	� ������ ������� ����	 ��
�) 	
 	��� ���� ������ ��� ������ ���� 
�


����
�� �����	 ��� 	�� ���� .(  

  

 ���� ����� � 	� ����� �	���� � ��� 	�� ������ ���� ���� 	
��� ����� ���) �
����� �� ����

��� 	
 ��	 ��� ,��� �
��
 ��   103 kg/m3 × (10-6 m)3 = 10-15 kg  ( ���� ���
�

����
	 ������ 	
 
������ . ����
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���� ��� ���� ��� ,��� ��	��	 ���� ��� 	��� ��� ���	� ����
 ��� ����
-������.  

 �����	 ���� �� 	� ��������� ���� , ���� 
�  

• ���� 	���	 ���� ������ �����
 ����� )�	�� ����(! 

o  ��� ���	�
� ����������� ��� ������ 	��� �����
 ,� �	��� �� 	������  
����� 
����

�	� ����������� 	
� -������ �� �	
 ���
� ,
����	� �	 
���
��
� ,���' . 

• ��	�� ������ ���� , �
��� ���
 ���
 ����� 
����
��
 ��� 
����� �
��� �	��

���� ,��� ����� ���
 
������ .  

������ ��
�� ��� ����� �� ��
 ���� ,�
� ���� ��	��� ����	.  

  

�������	� ���� ���
 ���� ,����� ���� ��� ��	
:  

 ����"���� 		� " ���� �
� 
�
 ����
 �����	� 	
 	�� ����V0 .  
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�	��� �
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 ��
 �
���)1924 ( ������
 �
��)Erwin Schrödinger (� 
� ����� �	���� �� 	
 ���	

��	� ������
.  

  

�-1927  ���	��Davisson and Germer 
������ �� ���	�� 
�Bell  ��� 
����
�� 
���	


���� �����
 �������	� �	� 	��� )Physical Review 30, 705( .   

  


���� 
�	�
 	
 ��� ����� ��� :  

�-1921 	��� 	
 ��	�� �������	� ����� 	
 
����� ���� �� ,�������	� �	�	 �
� �		 .  


������� 
����
 	
 ���� ���.  

 ���� ���� 
� �����)�� ( ������)	���	 
����� 
���� �� .(  

� 
���
� 
����� 
���� ������ 
����" ����� 	� 	� ����� ���� 
���� 
����� ������ �


�����:  

  

�� 
�
� ��	�
 �	 ���
"����� ��
��� ���� ����� ����� � ,��� ����� ���� ��� 	� ,  

����
 ������� ����
��� ����� ����� 
���� �	� 
����

 ��.  

  

 �	
���	
 ������ 
���� �����
� ����� ,��	�� 
� ������ 
����	 ��� �����.  


�� ��
	 ��� ,�� ��� �
�� ������ ���� 	
 ������ ��	�� 
� ����� ��.  

������ 	� ����
� ,�	�� 
����
 �	���:  
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�
���� ������ 	
�
 ��� �������� ��
 ��� 	����
 ����� �� , 
��� �
��
� 
�
��

��
�����	 �	�� ����	��� ��
��� 	
 �
�� ��� ����,  

��
��� 	
 ��� ����� ����
� ����
 �� ��	���.  

  

 ����� �������������� 	
 
��� 
����� ���� .
 
����
� 
�� �����
�  
���� �	����� �����

 	
50°  �������	� ��� ����  	
 �
�� �����
54V ) ��� ����� 
� ���� ��	 
�
���

 
����
��� 	�� 
������ ����(:  

  

)
���� 	
 ���� ����� ���	 �	�� ������ 
���� ,�
��  
����� ����
	� ���� �� 
����	


����(.  

  

��� ����:   

1. 
�
 ����
 �����	� ���� �	���� �� 	� ���� ���  54V? 

2. � ���� 
�����
 
����-x  �	��	 ���� 	
) ����13 ����� ��������� ���� 	
 ( ���


������ ���	 
����� ���� ��� 
���� . �� ���� 	
 
����
 �	������ ������ 
����

 ���
	 ����
� �� ������	����� ����� ���� ���� , ���
�� ��� �����
 ��
� ��


���� , ���� 
������ ����
 ���X,  ���2.15Å  
���� 
���� ������ �������	��
�

�	� ����
��	 ���� ��
� .) ���� ���
 
�
 �	 ���
 
��� 
�� 
��� ���� �����– 


���� ��
��	 
����� ���� ���
 
���� .
����� ��� ����	 ���	� .�� ��� , �	 ���


 �������	�� 
� ������� ����
��� ��� ����	–  ����� ���� ��� 2.15Å.  ���� ���5-

5 �-Tipler(  
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 ����� �������� ����� ��� ���� 
������ ������ 
� ��
�
 ������ 
��� 
� 
����


 
���� 	
 ����
 ����
��� ����� ���� 
�	������) ��� ���
 ���� �	�� �� ����
 ����
��

����
���.(  

 
����
� 
���	 
����� ��	�
 ������ ��� 
� ����� �� ���	���� �� ���� ��	  	
 
������

 ���� 
������ ����
��� ��� �������X.  

 ���� 	
 �	�	 ������ �� 
����
� �������	�� 
����
� ���� ���� �	 �� ��� �
���X,  

�� 	��"����� ��
	 ����� 	�� 
���
 
� ���
�� 
��	 
�
 ��
� ��
 ���� �.  

 ������ 
������	 ���
� ����� �	�� �����	�� 	
 
������ �������
 ��� 
���� ����
�

 ���� �����	�� �
�� ����� 	
����� ��
 	�.  

  

  

  

 ��
 �
���)1924 ( ��� ��G.P. Thomson   ) �����	�� �	�� 	
 ���J.J. Thomson , ���

�������� �� ���� 	��� ����( �������	� 	
 ���� �����.  

���� ����
��� ��
 
�
� ����� 
�

� �����
 . �� 	
 ��
�� 
���� ���� ����� ��
���

 
����� θ  ���� ���
 ����
�
 �� ���	 ���� , 
���� ��� �����	 ����� ���2θ.   
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�

�����������������	�
���

�����	���
����
���
���
����

	
��	��������	�������0.5Å����
���
��

  

�����������������	���������	���������	�
����
��	��	�  

  

�	
�	���������	��������	�����


 

�	
�����
��������
���	���	��������
�����
�����	
������
���
�


���
�
�	
������
����   

�
�����
����
	��
�
���������
����	�2θ�����	����� ������	

�
�
���������������	���
	��
�
600V�!	
��	��������	������

�������
���������	��������	�����������	
�
����
�	�  

�����������������	���������	���������	�
����
��	��	����	���
���������
���


���������������	��   

	�����	����	��������	����
�
����������-�
���	
�	���������	��������	�����


�	
�����
���

���
�
�	
������
����

�
�����
����
	��
�
���������
����	

�
�
���������������	���
	��
�


�������
���������	��������	�����������	
�
����
�	

  

  

��	���
���������
���


  

���"��������������������

  

����������	�����	����	��������	����
�
����������
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���� �� ������  

 ��� �	�� �����	�
 ����)�������	� ,	
�	 (������ 
����
� 	
 
��	� 
����
 ������� ,

 �����	� 	
 ����
	 
����
�
 ��	� 	
 
����
� ��� 
�� ����	 ���	��	��.  

  

 �	� ��� �	�� �����	�)	
�	 ,�������	� ( �������������
 
���
� 
����
 ����
� , �
��

����� �
�� ��	� ,��	�� 
���
�� 
���� ���

.  


�� 	�� �� ,	 ������
 
���
� 	
 
����
� ��	�	 
������� ��
 
��� 
����
 
����
� ��


��	�� 
���
� 	
.  

 ��	 ����� ��
 
����
 	���	� 	
 
��		�:  

���
�
� �������� ����	 ������:  

 	� ��
��
��� �
�� ,������ ���� ,  ����� ��
�
x   ����� ����� ����
�	 	����)y.(  

�� ����� ����
 ���� ��	�� 
���
� 
���� ������ �����:  

2

2

22

2 ),(1),(

dt

txyd

vdx

txyd
=  

 �� 
���� ���� �
��
�����  	�� ���  
ρ

T
v = ,
�- T   �  �
��� 
���
�� ���- ρ  

�	
 ���� 
�����.  

� 
�
�� ����
��"   ������ ������ ����� ������� 	� �y(x ± vt).  

  ����
 ������ ���–   �
�� ��� ����� ���
� 	��+x   ����� + ��� 	�
 ����� ���
�−x.  

  

�������	 �������:  

 �� ������ ���
���
 
����
�"������ 	� " ��"�	���������" , ������  

( )

( )tkxy

T

tx
y

vtxytxy

ω

λ
π

λ

π

−=

�
�

�
�
�

�
�
�

	


�

�
−=

��

�
��

�
−=

cos

2cos

2
cos),(

0

0

0
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   �
��  k=2π/λ     ������	 ��
�   

� -    ω = kv = 2π/T = 2πf     ���������	 ����
�	.  

  

����� ���
 ��� )�	��	 ������� ������( ,   
������v  
� 
���� ��	�� 
���
�� ������


 	�� 	
 ����� ��

� �� 
������) 	
 ���������������
������� �.(  

��	 , 
���� �� 
�����	���	 ����	�.  

��� 
������ ��� ����� ��� 
� 	�� 	
 ����	 �� �����.  

  
� ���
�
 
���	v  ���� ��
� ,�  ���	
 ��� 
��� �����- k   ,��� ����
 ����
.  

  

���� ���
� , ���
 ���� �� �� �-π/2 ,   ���  

( ) ( )tkxytkxytxy ωπω −=−−= sin2/cos),( 00,  

� �
�� �� ��
�	���	���� ���
� 

 

( )

( ) ( )[ ]tkxitkxy

eytxy
tkxi

ωω

ω

−−−=

= −−

sincos

),(

0

0
  

���	���� ���
� �� ����	 ��� 
��� ����� , �	��� ��
��� 	
�	AC 	�
��.   


 ��������� �
�� 	��� ��� �
��� 	
 , �� ������� ��

� �
��� �	�� ��
) �� �� �	��

 ������– �� �� �� ��	��	 
��� 
� ( ����
��������	 �
��� 	�� ��
� �
��
.  

  

	���������
	 �����:   

�� �����
 ����� ��� ,
�����	 ��	�� 
���
�
 ��� ����
 , 	
 
����
� 	
 ����
 ����

���
� �� ��� ����
��.  

 �� ����� �� ����� ���� �����
����
� 
����
	 ,���� ������ ���� ����� ����.  

 ��������������� 
���
�
 
����� 
����
 ����.  

  

��� ���� – 
��� ��:  

�
 ���� 
�����	��� �	�� ������� ��	� ��
 	
 ����
��
 
������
� 
��
  ��� �
��

 ����� ���
�+x  ����� ��
��  -x   ������ 	� �
�� tkxtxy ωcoscos),( ∝ . ���� ��� 	�


��� �� ,���
� ����
 ��
� .	
�	 ,��
� ���� 	����  
����� �
��� ���
)x=2πn/k(.  
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 �	 ���
�
������ 
��� �  ���
 ��� 
���� 	� ������
� ��
��
 	��–  
���� 	� ���
�
 	�

�
�.  

  

�� �� 	�����	 ������:  

 ����
 ��� ��	� 	
 ���
� ������� 
�����
 
������	 
�������������	 ������� �����.  

	
�	 ,� ����
� �
�� ��� 
����� 	�� 
����� ρ  �	 
�
  	� 
����������  

tkxytxy ωcoscos),( 0=.  

  �����
 �
��� 	
 ��� ���� ����
�dx.  

  ����� ����
� 
�����y    	
� 
	��
� ����"���� ��	 
���� �  . 
������
 ����� ��

	�� 
����	���	 
�����������    :0

),(
y

t

txy
∝

∂

∂
.  

������ 
�����	 
����������� ���� 	
 
������ ������� ,   ���	�

2

0

2

2

),(
2
1

y
t

txy
dmdK ∝�

�

	


�

�

∂

∂
= ρ .  

dK ���� �� ��

� ,	� ���� ����� 	��-� ���- sin2   �
�� 
����� �����
 	�������.  

  


���� ����� : 
� 	��	 ��� ���� ��	 ������
� 
�����   �����  ���y    	
����:  

tkxy
dt

dy
ωω sincos0−=.  

 �� 	
 
������ ������� ������� 

tkxdxy
dt

dy
dxdE ωωρρ 2222

0

2

sincos
2
1

2
1

=�
�

	


�

�
=.  

� 	��
� ������� �����"	� ���� ��������� �-����� ��� ��� .
 ����- 
2
1

sin
2
1 2

0

2 =
 θθ
π

π

d,  

 ��	��� ��  




==

==
ωπωπ

ρωωρ
/2

0

22222
0

/2

0

1
4
1

cos
4
11 TT

dty
T

kxydt
dx

dE

T
 ,  

���	� , 	
 ���� ����� ������� 
������	 
��������������� �
��� 	�� 
������ ����� 	
 ���� �����.  
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 ���� ����� ������������	 	�����	  �
��� 	
��	 ������� ������ ����������� .  


 ��� ��	 ����� �����	 �����������
 ������ 	�������� ���� �
��� 
����
��
��� ,  

�� 
����
�
������ �����	���	 
�����������.  

  

 �
����� �	� ���� �� ���� ���� :�	�
�� ��
� ��� ��� 	
 	�� 
������   ε ,  
������

	 
����������� �	�
�� ��
� 	
 ���������
� �����  :
2ε∝

dxdydz

dE
 .  

  

��	 ������� �� ������
		 �����	  

���	�� �����	 	�� 
������ ��� �
�� 
� ����	 ��� ,���������	� 	� 	
 ����� ����
�.  

  

��� 	�� ,  �	�
�� ��
� 	��� ��� 	�� 
������ε.  

	  
����������� ���������	� 	� 	
 ������� 
�����
 ����- ε2. 

����� ���� �������
 �� ���� ��� �
��� �������� ����	 
�����������.  

 �� ���� ����  

 ���� �������	 ��
� ����
� 	
��� ���
� ����
���������� �����������- εεεε2222 ����� ,

��	 ������� ������ 	
��� 	����.  

  

	
�	 ,����� ��
 �� 
����
� ������ , 	�� 
������ ��� ���� 	� ������ ������
 �����

 
���
�– �� ������ ��
� ������
 ��	�� ��� ����� 
��� �
�� �  π.  

���	� , �	� ����������
� �	�
�� ��
�.  

���� ,������� 	
 
����� ����� ���� ���� 	� �	� ������ ,  

���� 
����
� 	
� 
�	����� 	�� 
������ ��� �������� ,�	����� ������� �������� ����.  

  

�� ������ 
� ���	 �
�� ���� ����� ��� 
���� ,������ ���
� ��� ����� 	
�	.  
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 ���� 	
 
����� ���	 
����
� 
���� ��30 ,1000 ,10,000 ,������ ����	���.

  
)�
��	 ,�������	� 
������ �	��
� �	� 
����
 ,��� ����
� ��(  

  

  ����
�a 
����
�� 
���
� �����	 ���� �
��
 ���� 
����� ��� ��� 
�.  

�

 �	 ��	���� 	�	� ���	 ���
� ����� ���� �� – ����� ��	 	����	 �����.  

���� ��� 	���� ���� ������	 �����
		 �� ������ ���
� ������	 ��.  

� ���� �� 
�� ������-1000  
�����)b (
���
� 
����
�� 
���
.  

�
�� ���� ��� ���	 ,	��� �� ���� 
������ ���� ,
����
�� 
���

 ����� 
����.  

  

� ����� 	��� 	���� 	�	� ���	 ���
� ����� ���� ��� 	
���	  

•  ������ ��
��� ���� ���� 

• ����
� �������� 	
 	�� 
������� ��� ��	���� ��.  


��� 	�� 
������� , ����� ��
����–  ���	 
����
�� 
���
 
� ��	��� ����� �	 
���


��� 
����� .  


 �	� �� �������	������� 	���� ��	 	����	 �����.  

  

 �� �������� ���� 
���	 	��� �������� 
���� ���
 ����
,  

����� ������� ��� ��� �� ��	 ������		 ,	���� ����� �� �� ��	 ������� ��� ��� –  

������ ��
 ��� ����
 	�� 
������ ��	� ��
 ��� ��� 
����
��.  

  

 �� �	 ���
 �� 	���������	������� 	���� ��	 �
�	 �� �����	 ������ ���� ����:  
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� ���� 
� ������ ����� ��� ��� ��� ���	 �� ������
�� ,  

 
����
� 
���
 �
�� 
� ��	��� �	 �
�� �
	� ��–   

 ��� ��	���
 ����

�� ������ ������� 	
 , ������ ������������ ������	 �������	�

��	 �������  ε2.  
)������� 
�����	 ����������� 	�� 
������ �����
 ���� , ���� 
�����	 
�����������


��������    :
3

2

dx

dN photons
∝ε(  

  

 ����	 ���	� �� 	�� ��  

 ��	 ������� ����� ���
� �����	����� �����
		 ������ ��	 	� ����� �����	 ��.  

�   	�� 
������ 
� ���� -ψ(x,t)   ,  

   �� 
���������	�� ���
�� ���� �
��ψ(x,t) ∝ ε.  

 �����	 
���
��� ��   ���x  	- x+dx  ���     ψ2 (x,t) dx.  

 ��� ���� ���� ������
 
���
��� 	� ��
 ����1 )���� ����� 	
 ����� �������� �����,  �	�

	�� 
������ 	� ���		 �����(   
���	 ����� 	�� 
������ ��������� 
 ��   

1),(2 =

∞

∞−

dxtxψ.  

  

������ �
�	
� ,�����	 �� ����� �����
		   

)���	� ,��
	� ����� ��
��� �� ���� �	
 ����� ����
 
���
��� (  

  ����dx dy dz   ������ ����(x,y,z) ���   

dzdydxtzyx ),,,(2ψ  

	��-������ ���� �
���
��� 
�����
 
�� , 	�� 
����������� 	�� 
	�����:  



∞

∞−

= 1),,,(2 dzdydxtzyxψ  

  

 �	�� 
� ��	��	� ����� 	� ����	 �
�� 
��"����� " �	��"�����	� "��� ���	� 	� �� .  

��	
 ������	 ����������� �����	�� ����
 ���� ,�� ����� �� ������ ��	���
 �
��.  
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���� ������  

 	
 
����
� 
��� �������� ��	)������ �� ���� ( ��
 ����� ������ - ��� ����	 �� ���

���	.  

 ���� �	��
 ��� 	
 ��� ��� ��
	 ��	��� ��−∞  ���∞,  

 ��)������ ��	� 	
 ����� – �	��	 
��� 
	�
 ( ���� 	��� 	�� �	� ��
� ����
 	�  

)�
�� 	
 
����
 ���� ,����� ��
� ���� 	
 , �
 ��
� ����� 	
 ��–  
���� ����
 �� �����

���
 ���.(  

  

�� 
���	
 ,� ����� �
�������	� ����
�
 ��	� , 
��� ����� ���� ���	�� 
� ��
	

� ��� �
������ ������ ����� �����, 	
�	 ,��	�	 ���� ��� ��
 �����	� .  

��	� 
������ 
�� 
�
�	 �
�� ���?  

  

 ��
���	 ��� ��� ��	� 	
 ���
� ����
������� :  

 	������ �� ���� �������
������� ���� ������	 ���� �� ���
 ������ ������
�.  

���� ,����� 
������ �
��� 
	�� ������� ��
	 	���.  

� �
�� ������� ��	� ���� 	
 ������ ���� 	
 ���
	 ���
)Fourier (� ����� ��	� �������

����� .  

 ���� ���� ������� ���������	� ��	 
�
���� 
����
.  

  

� ���
�
 	�" ���� ������� ��	� 	
 ���� ����� �����  )Wave packet(.  

 ��
 	
 ���� �� 	��
���	� ������� ��	� ,
����� ������ 
����
 	� ��� ��	� , �����

��	� ������ 	
 
�����	 ��
��:  

  

������:  

 ��	� ��
 	
 ����� ����
�
���
 
������
 �	�� 
���� �
��� �����
�:  

( ) ( )
( ) ( )[ ] ( ) ( )[ ]

( ) ( )txktxk

txkktxkk

txktxktxy

ωω

ωωωω

ωω

−∆−∆=

+−+−−−=

−+−=

coscos2

coscos2

coscos),(

2
1

2
1

212
1

212
1

212
1

212
1

2211
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�
�� ������ �� ������ �����
� �������� 
�� ��
���� 
�  

( )
( )212

1

212
1

21

21

ωωω

ωωω

+≡

+≡

−≡∆

−≡∆

kkk

kkk

  

  

� ����� ��
�� ����  kk <<∆<<∆ ,ωω.  


������ �

 	
 �	��� ��� 	��
 ����� �� :  

 �������	��	�  
	�� 	� ����� 
����
)k,ω (���� �����	 �����
�  ���k1, k2, ω1, ω2  

 	���"����� "��	 ��

�
 ������� 	
 ,���	� , ����� 	� ����� 
����
 ��)∆k ,∆ω(:  

  
 
���� �� ����
������ ,	�� �	� 	
 ����� ��
�  �� ������ 
����
� 	�� 	�� 
� �����


����� 
����
 
�	�� 
��	��������� 
����� ��.  

  

������ ��
��.  

  

 	
 
����
 ����	 �	 ��
� 
����	��� ���:  

1.  �� 	�� 
������� 
���	 �
�� ������ �������� 	
 
����
�� 
�������� k
vp

ω
=.  

	 ���� �� 
�����	���	 ����	� ������	. 
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2. 
���	 �
��  �� ��� 
����� 
������ 	
 
����
�� 
�����
k∆

∆ω
.   


���� �� 
����� 	����	 ����	�,  �vg  ,
 ��
�� 
���
� �� ����
 �	���� 
����


 
����� ��	�� ��
")������ ("����. 

3.  ���
� �� ������� �������
� ����	�	 ���	�� ���
�  ω1/k1= ω2/k2=v,  �  ��

vp=vg=v  .  

 
����� 	
 
�	
 
����� ��
�	 
���� 
���� ��� ���
�  �����v    	�� �����k. 

 
���� �� ����
	����
�
 )Dispersion ,
����
� , 
������ 	
 
����
�	 
���� ���
 ��
�

��� ���	 	��( ��������� ���
 ���� ���
��.  

 ����� 
����� �� ����� 
������
���
 ������ 
������.  

��� ����:   �� �� ���� ���
� ����
�ω1/k1= ω2/k2=v ,  ��vp=vg=v , �� ���
 ���


���
 ������ 
������ ����� 
����� �		�� ����� �� ����
� ���� � ��� ��� ��-v. 

4. 
������ ��� 
����� 
������
 ���� , ���� 	��� ���	  ��π  
����� �

 ��� 

� 
���
� �������� ���
 
����� �����
� .  

���	� , �� ��� ����� 
� ����� �

���� �	� 
��� ∆x, ���� ������ ����� 
��� �   

π

π

2
2
1

=∆∆

=∆∆

xk

xk

   

�� ��� ���	 �"�
�� " 	����	�-x  	����� ��	 ���
� ��� ���		 ���� .  

 
� ����� 
����� ����� ���� �� 	���
 	� ����� �����	 ���	 ��� ��� 
�0 	
 ���  

� 
����	 
����� 
������-0 � ���"� � ∆t,  �� �� ����  

πω 2=∆∆ t,  

���	� ,� �������� ������
�	 ��� ���		 ���� ���� 	����	 �
�� ��� ���	. 

  

  

���� ���� �� 	���������
:  

����� ,��	� ��
 �� �	 ���	 �
�� ,������ �	� .  

�����
� ��	� 	
 ������� ���� ��� , �����	��� ��� 	�	 �
����
	�:  
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( )

( )

( ) ��   ),(

  ��   sin),(

cos),(

0

0

0

�

�

�

∞

=

−

∞

=

∞

=

=

−=

−=

n

txki

n

n

nnn

n

nnn

nneAtxy

txkAtxy

txkAtxy

ω

ω

ω

  

 	��	 ��	 �
��� ��� ���� ��	������ , �� 	��� � ��� ��������������   

)  ��� �������� �����2π/kmin  �   �����- 2π/ωmin  ���� ,  �
��ωmin  ����� �
��� ������ 
����
� ���  ,

���'.(�

� ���
�� ����� ����	 ������ ������
 �����	� 	
 	� 
������ ��
	 ���� ��-∞ ,  

���	� ,������� 	����� 	������ ,	 ����	 
����� ���
 ,	
�	:   

( )


∞

∞−

−= dkekAtxy tkxi ω)(),(.  

A(k)     	� ���� ���� 
��	�
�� 
������ 
����k .  

 ��� �����	���� 
� 
��
� ������ 	
 ������� 	��  	� ���� 	��k ,   �
��k  ����.  

 ��

 ���
� 
����1:1  	�� 
������ ��� y(x,t)  	�� ���� 	
 
��	�
�� 
�������  A(k).   

 ���� �	��	 	�������"	����� ����
���" ,
�������� �

 ��� �
�� 
� �
�� ����.   

  

�������� 	
 ���
� ����
 
 ��� ������
 	��-A(k) �
�� ��� ,y(x)  ����� ���� ����

�
�� ,����	� , 	
 	��� ���� �� 
�������� �

 	
 ������� 
	���
 ��1 ,  

���	�   ,∆x ∆k ~ 1.  

������� ��	� ��
� 
������ ����� 	
 ������ ��	 ��� ��	��� ,   ����� �
∆x ∆k ~ 2π. 

  

 �����	 ,� ����
� ���� ������
 ������ 
������ ��� 
��	�
�� 
������    ��

��k,  

2

2

2)( k

k

ekA
∆

−

= ,  �
��∆k   �������� 	
 ����� 
� ��
�
 ����� ���.  

�� 
���� ���� 
������:  



 

  

�
��
��	��
�����������������

�����
�����������������������	���
�������������
����  

��-�A(k)�� �����������������

���  

������	
�
�	��
���
�������	�����	���
�������	����	


����	��������-1/2�������������	���
���  

��������	�������
��
���


��	���������������   

�
�����	���������
���
���   

 

������	����
�����������
�����
����������
����
��
��	��
��

��������∆��  

�����
�����������������������	���
�������������
���

)(xy   

��
��	��	��������������������������y(x−vt)���

����������
�����
��	�
���
�����������	���
���������

 

��	��������
����	��
����∆x ∆k��������	
�
�	��
���
�������	�����	���
�������	����	


�����
�������������	����������
	���������	��������

���
�	���������  

����������	��	
�	���
������!�����	������������������	����

�����	�
���
��������������������������
����������"��	���������������

	������������-ψ2 �����	������������
�����	���������
���
���

�
���	������	����
�����������


��	
�
���	�������

  

��
�������
�����������������������	���
�������������
����	

2

2

2) x

x

e
∆

−

=

  

��	����
��!��
��	��	��������������������������

���������������
��

∆x ∆k=1/2  

��	��������
����	��
��

�	
�	��������
�������������	����������
	���

  

  

���
�	���������

�����
������������

�����	�
���
���

  

	������������
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 ����� 
���
��� 	��0  ����� 
������ ��) �	� �� ��� �	��ψ=0.(  

  

����� ����� ���	�� 
� ���	 ��� ,��	� 
���� 
���	 �	
 	�� 
������ 	�.  


 ������ �����,  

�  ���� 	�� ����	 ������ ���-x  ,  ��	 ��
� ���� �� ����	 ���� ��� ��k   


����� ��� ���
.  

������ ����� , �� �����   2
1

≥∆∆ kx,   


 ����- kp �=,  �� ���� ��  

2
�

≥∆∆ px.  

 ��� �������-��
�� ������ ���� 
����� ,� ����" �������� �)Werner Heisenberg (�-

1927.  

 ���� ��������  

  �
�� ��� ���� ������
 	��)∆x �
�� ���  ( �
�� ���� ���� ��
� ��)∆p 	��� �
�� (����	�.  

  

���	� ������� ���� ���� ,��
� 
�� ����� 
� ����	 ����
  	
 �����	��� ����� ,  

 �� ����� 	� ���
�	 ����
�����:  

� �������� ���� ���	�� ����� 
� ����   x1(t1) ,  ����� �����
� ��� ���� ��
   ,x2(t2).  

 �� ��� ���	�� ��
   p = mv = m(x2 – x1)/(t2 – t1). 

� 
� 
���	 �����
� 	
 ����� , ������� .  

���� 	
 �	�� ����� 	
� , 	
 ������ ����  x2, x1  	�� ����	 ���� ���
 ,  

���	�   ,∆x~λ.  

 ��
 
� �� 	� ���� 	�� �����	  p=h/λ,  

 	��� ���� �����	�� 	
 ��
� 
� ��
� ��� �����	�� �
�����
 ��  ∆p~h/λ. 


 ����� ��-   �>=∆∆ h
h

xp λ
λ

~  , �� ����� 	� ���
�	 ��	�� �	 
�� 	�� ���������


�����.  

  
� ����	 ����
 	��x  � �
�� ����� �����"   
���� �λ ,  
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�
�� �	��� ����� �	
 ��
� 
� ��
� ��� �� ,  

 ������ 
� �����
 ���� ����
 ��)��
�� 
������ 
� �� ��
��( ,  

���
��� ������� ��
�
 ������ 
���
. 

  

  

���� ����� ,
 ��	� 
����
 ��������� ���	 ������  
	�� �����	 ����
�� ��� ���� 

)���	� ,	� �����
�
 �������� ������� 
�����-
������
 	
 ��� ���
 ���(:  

2
1

≥∆∆ tω
  

)
�� 
	�
 ���.(  


 ����- ω�=E , �� ���� ��  

2
�

≥∆∆ Et  

����� ������� ���� 
����� �� �
� ���
.  

����� ����� , ����
 	��
 ���� �� ����
�� ����� ����� ���	� 	
 ������� 
� 
��	 , ��

�
�� ����� ����� ���	 ���	� )����(.  

  


���	 ��� ���	�� ��� 
��:  

�� ����� 
����
 �
�� ��	 ���

 �� �
���� ���
�� ��
 ����	 ���� ���
��� �����.  


�����	 ������ ���
��� 	� ���� ��� .  

 ���
� �� �
�� ������� ���
��� � 
��	�� 
������
 ,���� ��� 
����
 �
�� ���
��	
.  

��	�� 
������
 
��	 	��� ���� ��� ��.  

 ����
 
��	 	��� �� ��� ∆t  �	
 ������ ���� 	��� 
����� ���. 

 ��	 ���
��� ��
 ��� 
������
� 
���	 ��
� 
����� ��� ����
 ����� ���πω 2=∆∆ t.  

��	 , ��� ���� �����	 
� 
���
����
� ,�� ��� 
�����	 �����	 ��	�.  

� ��� 
���	 	��� ���� ������ ��� ����� 
����
� 
���� 	
 ����� 
	���- 2π.  


�
�� ������ �� ��
� �� ����� ,���� 
���

� ,���'.  

  

����� ����  �� 
����� �� ����� �������� 
������������ 	
 �	���� �� ���� ���� , �	�

 ��� �
�� 	
 
����� ����
���
�� ����� 	�� 
������ ���� , ������� ��� �������.  
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 ���� �� �������� 
��������
� ���� ��� ���	�	
 .  

 �� �������� ������� . ���	�� ���� ����	 �
��
 �� 	�)���� ,������ ,���' (� �����" �

	�� ������� ,����� ��� ���� �
	� �	� �� 
����� ��.  

  

 
����� �� ����� 	� ���
�	 	��� ���
���� �����
 ���	 �
��  

���� ������ �� 
���	 ����� �� ,������ 
�
	�� 
� ����� ���.  

	
�	 , ������ �� 

	��	-3/4 ��������� ���
 ��� ���	
 ���� � 30° � ��� �������

) ��2/330cos =°.(  

��� ������ ���	� �� �	 ���� ���
 ������ 
� ��� 	��� ������ , �����	� ���� �� �	�– 

������� ,	�� 	
 
������ .  

���� ��� 	
 ������� ��
� ����
 ����
� ������� ,	��-
���	�� .���'.  

 	
 ����� ���� ���	 ��	��� ��� �	��	 ����
� �������	�� �� �������� 
����
� �� ���

����
� 	
 
�������� ��� ,
����� 	
 	��� ����� 
�����
 ����
� �� 	��.  

��� ���	�	 ����
� 
����� �� �����.  

 

�����
�� ���
� ��:  

���� 	� ���� 	�� ������ 	� 
������ 	�� ���	�� ����
�        :ψ = cos (kx – ωt) .  

	���	�   �	��� 	� ���� ��k.  

�	���� �� ���� ��	 ,    ����� ��
 �	 
�kp �= ,  


 �����- k   ����� 	
 ����
 ��0   �� ��p     ���� 	
 ����
 ��0.  

 	� ���� ������	�� ������ ����
�?  


������� ��� ������ 	� ����
� ,	� 
��� ������ 	�
 ��
�-����� 	� ���!  

  

 
�
�	 ��� ������������� ���
�	 ��  

 
�	����� ������ 
����
 ��	 ���� ���� 	���)����� 
�� 	
 �� (����� ���� ���� .  


������ 
���� 	� ���� ����� �� ����
 ,
����� �� �����	 ���
� ���
 
���	 �
���:  

	� 

��� 	�� 
������
 �
���� ���� 
����- ���
 ���)∆x (��� )	
�	~ ,��� �������.(  
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 ����- 2
�

≥∆∆ px  ,∆x   �
���� ���∆p  	��� ,  

���	� ,   	
 	��� ���� �	����� ��
 
� 
����	∆p ,  

 	
 	��� ���� 
�	����� ������ �� ��	�2

22

min 82
~

xmm

p
E

∆
≥

∆ �

.  

  

�����	 :������� ���� ��� ����� ���� 	���
 
������ ���� .  

   ��� �	
 ����� 
�� 
������	 ��� ����� ��

( ) ( )
( ) ( )

eV 8.3
A .50eV 1011.58

A eV 1973
882

~ 2
5

2

22

2

2

22

min =

×××

=
∆

=
∆

≥
∆

��

��
��

xmc

c

xmm

p
E

  

 ����� �� ����)  ��� ����� 
�� 
������ �����13.6 eV.(  

�� ��� 
����� �� ���
 �	 ���
-�����
 �	 �����
,  

���� 
������ ����� 	�� 
������ �� ����� ,  �	���� �����
∆p∆x  
�	����� ���.  

  

 	��������������� ������ 	����� ��  

 �����	� ������� ������ ���� ����	 �
�� 
����� �� ����� 
������)������ 	
�	 ,

������	��� ( ���
��)
�	��	��	 ,�������	 (���
�� �	 �� ����� �������.  

  

�������� ������ ����
� ,�������� ������ 	
 ��
� ��� ���
 .  

 ���� ��� �������� 	��� ������ ���� ,�� 
� �� ��
� ���� ��������� ������� 	��� �����
�.  

 �� ��
���� ����� ����	 �
�� ����������� 	������� 	��
� ����� ��� ����:  
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�
����
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��	�����������������
�����   

���	������������
�������������������

������	�������	����������������������

���������
�������	������������

��	   

���������
����
��
�����	���������	
�
�	���������������

������
�
���
��	


���������������	
����������	

  

�
������	������������
�	�����������
���������������

��	���	������������

�
��������������	���������	��

����
 �  

  

�	�
��
�����������������	�������������	����	�

��������
���������������
����	�����������	��������������	�������	

������	��	����������������

  

���	���������


�	�����������������	
��	�����������������
�����
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������
����

  


����
��������
�
����
�
�

����	��������������������������� �  

q/m���p=mv�����)����
����
�
�

���	��	��	
��	�	�
����
�
�
����
�
���

 

�������������	��������	�������������������
	���������
���������
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�����
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�����������
��
�
������	��'%&&��������
������	
���	������
��	�����
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��
�
������	��

��������
��������	��

Zb(10650)���������	���
����
�������������������
��
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�������	�������	��������	
�
����������	��

  

������
�������	����������	������
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������������ ����� ���	 �� ���� ���� �
�� ,
����� ����� ���� ���	�� ������ �

 �	� ,

������ ��������� ���������.  

  

	� 	� ���
�� ���
� ,�� �	� �������� ��� ,���	� 	� ���
��
�� ,�������	�� ���� �����.  

	� �
�
�	 ������ ��	�-��� ���
 ��� ,������� 
������ ���� ���	�	� . ��
 �	�
 ��	 ����

����	�	 ����
 �����.  

  


����
� �

 
� �
��	 �
�� ��� ��?  

���	� ��� �����	� ��� ,	� ,����
 ,����	�	 ���
 ��
� ��?  

  

	� ���� ,
����� ����� 
���	
 ����	 ���� ,���� 
������ ��� 	��	�� 	
 �����- 
�����

��	
 ,
���	� ������� ��
��
 
�	����� ��
��� 
�� ��� .  

������� �	� ��� �	 ��� ��	
 	���� �	�� ,�� ,����	��	 ,  �	 ��� ���	� ���� �	��

s eV 104 15−×=h  
 	��� ���� �	� 	  j s  ,���� 	� 
������� 
����
 ����� ����� �� ,

������ ����� ��� ��	
 �������. 

���� �	 ��
 ���� , �� ��	��
� 
������ ������ �� ���� ������
 ����
 ��� ���
�	 �
��

����
� ���������� ���
��� �	
 
����
	.  

  

 	
� 	� 	
 
������� 
����	�� 
����
�
 ��� 
������� ������ 
� ���� 
���
� ���� ���	�

���� 
�� �����	�� , ��� ����� �� 
����	�� 
����
� ��� ������ �	�) 
����


����������.(  

 ���
� ��� ��� 	�  

•  ��������� ����� �
�� ���	� 	��)����� 
��
�
� ( 

• ��� ��� �� ��
� ������ 
�	��� ����� �
�� ���	� ���	���.  

  

� �� 	
 ������� ����
� ����
 	�
 ��)�����	� ,��� ,	�� ,���� (������ �"�� ������� � ,

��
	� 	� 
���
� 	
 ���
� ���
.  

)��� ���� ,   ��	�� 
���
� ��� ����
��2

2

22

2 1
dt

d

vdx

d ψψ
= .  

 ��� �	�� �����	� ���� ����
�� ����
�� 
�–  ������
 
���
�– �
��� ��	�(.  
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 �� �� ������ ��	 ���������
��� – 	� ������ 
����
�-��� ���� ���.  

 ��
� �
������ 	����� ����	� 	����� 	��������� ��� ��
� �� , ��  

• ����������� 
����� ��

� 	�� 
������ , 

•  ��
�� ������� �������	� ����	� ����� ����
	 ���
�� , ������� ������ ����–   

������
� ������� ��
 	
 ����
� ���� ,����� ����� 

��
� ������������.  

���� ����� ��	 ������� ������ 	��� ���
� ����� 	���������� �����
		.  

  

 
� 
��
�� 
���	�� �����	�� 
��
� 
���	�� ��	�� 
��
 ��� ����� ��
�	����	 	���:  

• ��������� 	������ ��� 	
 
����	� ���
 ��� ,  

 �� �
�� 
	��
�
  ��	 ���� >> 	���� ��� �� ��� �� �
��.  

���	� ����	� ����
� 
� 
�
�� 	�� 
������ 	
 �������� �� �����.  

����� ����� ��� ��� �� ������� �����
 ���	 ,����� �
�� �	 	� ��� ���
 ������,  

����
�
�� ,�
�� 	��	 �
� ���. 

• ��� ��
�:  �
����
����	� ���	�� ������� ����
� 	
 ����� ����� ��� , ��
�

�����
 ,����-	
 ��-  ������  >>	���� ������� �
�� �� )����� 	��� ,���
� ,���' .(  

  

������� ����
	 ���
�	 ����� �� ���� ��?  

	
�	 ,����� ��
� ����
 ��� 	
 
����
� ������ ����
�:  

  

	��� ������	 ���
 ������ ��
� �����
 ���� 	� 
����� ���� 
����.  

 ���� ���� �� ���  θ = 0.  

�
��	 ������	 	 ���
 ������ ��
	 ������� ��� 
���� �
�� 
����-λ/2.  

 ���� ��   ���� ���
��� ����sin θ = λ/2d  ,  �
��d   ��� ��� �����������.  
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��
 ����"    �θ ���� 
��� ,  ������ ����θ ~ λ/2d.  

  

���� ���� ������� ��
 ���� ��� ���� �
�� �� 
	��
� 
����
�� 
���

 ����,  

���� �� 
����
� ����� ����� 	� 	
 	�� 
������
 �����.  

���	� ,�� ������ ��
 ��� ���� ������
 ���	 �
��-
����.  

���	� ��
�
 ��	 ���� 	�� ,	 	��� ������ ��� ��� ���� ��� ��	� ����� ����� �� 
���

��	� ������.  

��� 
��� ��� ��� ���� ��� 
���	� �� 	� ������ 
� 
��
	 
���	 �
��
 ��	 ���� ��.  

  


�� 
�
�	 ��� ,��
� ������ ������� ������ ��� ������ �����	� ���� .  

 ��� ����
 ����� ��� ������
�"
���" ,� 	
 ����� ���� ��� ��� ��� ������ 	
 �� �����	

������ ��� ��� ����.  

 �����	��
 �����	 ���	�
 �	 ���
)������� �� (�	 ������
 ���� 	�� ����.  

���	� ,�   ������ 
� 
��	 ���	� - y   
���	    ��� ��d/2. 

)� ��� �
�� ���� ������ 
� 
��	 
�
 ����	 �
�� -  d/ ,����� �� ��	��
� 	��.( 


����� �� ����� ��	 �� ,  ����� �	
 ��
� 	� 
����� ��y     ���
dd

p y

��
=>∆

2/2
.  

������� �� �����	�� �� ���������� ���� ������ �
�� ,��
 �
�� ��	�� ��� , ���yp   	



���� �� �
�� 	
 	��� ���� ��

� ������.  

�   ��� ����
� 	
 ���
��-yp   	
 	��� ���� ��� �	
 ������ 
��� 	� ������ 	
  

π

θ
θ

πλ
θ =≈>

∆
=∆ 2

2
1

/
/

h

d

p

p

x

y �
,  

 � ��
�

� �
�� -  θ ~ λ/2d.  

���� 	� ��
��� �������	 
���� 	
 	���� ���� ��� ������ 
���� ����
�
 ����� ��,  


���� 
����
�� 
���

 ��.  

  

 ���� �
���� �� ����������	 ��
�	� �����	 � ������ ������������	 ������	 ��.  
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� ������ ���	 ������
� 
� ����	 �
�� ��
 ������" 
�����	�� 
����
� 
� �����
 �� �

�� - 
��	�� 
����
� �� 
����  

 ��	
�� ����� �����	 ���� 
� �����)Principle of complementarity(:  

�� 
� �� 
���	
� 
�����	��� 
��	�� 
����
� .��� 
�� �		 �	� ���� ���� 	
 ����
� , ��

�� ���

 
� ����	 �
�� ��- 
����– ���	�� 
� ������ �
��
 
������� 
����� ��	
 ��.  

  

�� ���� ���� ��� 
����	 ������
 -�������� 
��
 	� �����

 
���
 
�����,  

 �� �	 �� ��
�
 ���	��� 
������� 
����� 
� ���� ,������ �� �	
 
����������� �	�.  

  

��
� ������ ���� �� 
�����������
 ��� ��� ������ �� , 	
 ����
	 
����
� 
����
�

���	� ���	�.  

 �������� �� 
����������� ��)
��
�
� ,
����
� (����� ,���
� ���	�� �	�� ����
� ,  

  

��	�� 	���	 ����	����� ���� 	����	 ���� 	  ��
��� ����������	  

 	
 ����������� ���� ������ 
����� 
�� 
������ ����� 
����� 
� �����
2  ��	�

�������.  

��"������� ��	� ������ 	
 ����������� ���
 ��	� 
���� 	� ����	 ����� � .  

 �������,   

  �������� ������� ����
 ������ 
����� ��
k

vg
∆

∆
=

ω
  

  ����� �����	
dk

d
vg

ω
=.  

 

	����	 ����	� 	 ���
� ��	� 
���� 	
������	 ���� 	���	 ����	�  ����
� ���������

	�� 	
 ,���	� ,   ����� 
����� ����
	v     	�� ���� 	
 ��������k.  


�� 
���	 ��� ,	
 �������� 
�
���� 
����
� 
� ��
�� 	�� ����� ����� 
�����:  

vk=ω.  

   ��	 �����k   	���������� 
����� 
�:  
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dk

dv
kv

dk

d
+=

ω
.  

   ��
 ����� ��v    ���	
 ���� �- k )���	� ,��������� ���� ���
�(,    

 ���
��
 ������ 
������ ����� 
����.  

  

����	� :���
���
 ����� , 	���	 ����	������ 	����	 ����	��.  

  


����:  

•  
�����	 ������� 
���	 �
�� ������ vg   ���
�  ���	
- k  ,  

�� ��" �
�� ������� �� ����   	
 ������ ���k. 

• ��������� ���
� ,���
 
������ �� ������ ���� 	� , �� �
��� 
� ��
� 	��
 ��

���� , ���
� ���
 
����	 �
���– �������� ����. 

• 
�� 
���	 ,��������� �	 ���
� ,
����� �
��� �����
� ��������� 	�� ����� 	� ,

���� �� ��

� ���� 	�� 
��� ��	� ,����� 
�����	 ���
 ������ 
������.  

  

 �� ����	ωωωω  �-k  	����
�
	 ������� �����)Dispersion function.( 

  

�����	 ����	� �	�?  

 �� �����	���	 ����	�  ��� ����	�	 �� ��
���	�����	:  

�� 	� 
������ ����-   ����� ���	 	����
 �����	� 
��
�� 
�����x.  


��
� �
	 ,
������ �������� ����
�:  

  

( )

( )

( )tkxtx

��

tkxtx

etx tkxi

ωψψ

ωψψ

ψψ ω

−=

−=

= −−

sin),(

cos),(

),(

0

0

0

  

  

 ��� 	�� 	
 ����� 
�����  
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p

E

p

h

h

E
f

f

k
vp ===== λ

λπ

πω

/2
2

,  

���	� �����
� �
��- ��� �	���� �� ����� ��
�

� �����
�����	�	 
��	� 
����
� ����	.  

  ���� ��� ���� ��E/p   :  

�
	� ���	� ����-�
����   ,
m

p
E

2

2

=  ,  

   ��� ����� 
����� ���
m

p

p

E
v p 2

==,  

 �� ��
��� ���	�� 
������.  

  

�� �� ,���	�� 
����� ����� ����� 
�����.  

  

 ���� ��  	����	 ����	�
dk

d
vg

ω
=   ���� ����� �� �� ��	 ������ �� ����	�	 ��

�����	 ?  

 �������� ��
� ,  ��vg   ����� 
���
� 
���
� �� 
������ ���)
����� (��	� 
���� 	
 ,

���	�� ����� 
� �
�� �� 
��� 
��
�
.  

  �� ����	 ���vg ���	�� 
����� ��� ,��� 	�� ���	� ���� ��������� 
������ 
� 	���:  

  

 �� ������ �	���� �� ����  

ω

λ

�

�

==

==

hfE

k
h

p
    

  

    �� 
�� �	
�
m

p
E

2

2

=,  

     	����
( )

m

k

2

2
�

� =ω,  
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     ���	�
m

k

2

2
�

=ω.  

 
����� 
� 	��	 ��� �����������:  

m

p

m

k

dk

d
vg ===

�ω
.  

  ��
 	�� ���	� 	
 
������ ���� ���
 �	 ��
�� p      ����m.  

  

 �
���� ���
� ����� ����� ����������	 
���
��"	�� 
������ �.  


